B IR TAR K
R o1/ 10,000
EFESITEFELS
)= RO R VAN
W LLIBE L/ T B 5
woE o K

Pl A SRR (115R)
X = —260765.673
Y = -20596.736

WoSE ,EE ,9/T




T B IR EMER TR
#ER . 1/ 10,000
FEXTEE2F
BB o i &
e | L ER b/ [ BT H 5

OB 0 X

i A RUEARE (115R)
X = -254615.895
Y = -18723.610

150m

{wooz)
wesL ,2s 667




E E R EMEARTREX
MR 1/ 10,000
FEETESE3 S
B 0 L&
e |UER b/ [E BT # A
BB 0 K g
Yo B AR AE (115R)

X = -243850.9464
Y = —12327.0727

LIE



TE B RS TFAE X
#ER . 1/ 10,000
FEXTEFE4E |
o 0 L E
HILER . ERT H e

OB 0 X i

G R SR E (115R)
X = -243414.1278
Y = -11311.558

150m

/9 .BOE

{Wpse)
wipsh

5%



B EME L TIAE X
MER . 1/10,000
FEEFEES =

B 0 L '
e LER - E BT e

OB o0 K%

2 AR IE (115R)
X = ~242666.5417
Y = -10854.3983

150m

LIpog

U
el 5]



T B EMEAT RG]
LEUAN
FESTEFEE
BB o i &
WrILER b ERT Hi
OB 0 RO
T A R EAEE (115R)

X = -242025.6922
Y = -10627.5755

150m

A LLZ

WG /g)
wnog

/

2ot

1/ 10,000



EEIBEMERITREX
#MER 1/ 10,000
LT EF 1S
o oo B
Her BRI SEHT H S
% o X i
T R A (115R)

X = -241119.4127
Y = ~10388.4418

150m

279° 117
500m
(375m)

#



EEREMERTREX
AN
LS EE2 S
B % O i &
K LLIBERTT 22T Hi 26
s 0 X i
Yo R A E (113R)

X = —240329.4142
Y = -10297.5327

150m

KT

(Wgig)
Bk

G

ol

1/ 10,000



TE B ZEMER T RGN
MR 1/ 10,000
LT EF3 =
BB 0 AL &
K LLIERTL 22 BT Hi2E
BB 0 X

A SR E (115R)
X = —236293.9532
Y = -10730.8209

200m )
k om) |5




EEREMERTTRE X

TN
X EEAR
WO oo i B
Her L ER T 22T Hh 2
B 0 K K
Vi S AR (113R)
X = —233474.477
Y = -9214.102
150m
g|a
g

1/ 10,000



E BB EMER T RG]
e R
LT ESHSE
B oo i &
FE LB TT ZEHT M4
BB 0 K i
YA B R RN (115R)

X = —232284.9082
Y = —9340.8519

REF

1/ 10,000



T EIREFERTREX
AEIAN
L ES6S
B 0 N E
R IL AR T 20T 15
o o X i
VAR H R R (115R)

X = -231725.9289
Y = -9041.6011

150m

(350rm)

KAF

1/ 10,000



BB REMEATIREXN
AN
LT EETE

W B o i &
T LI BRI T ST M 4

m OB 0 X g

Ml B R EEARE (115R)
X = -228731.9997
Y = -9339.7747

Il

262° 30°
460m
(375m)

1/ 10,000



E BB THARX
N
LT EFRS=
BB o L &
P LR 22T 1t 5

o o K i

M RUBEARAE (L15R)
X = -228098.9394
Y = ~9464.2499

150m

253° 2°

500m
(375m)

1/ 10,000



EBIREER TR
#ER . 1/10,000
LITEELE
o O i &'
FAEER ZER BT M
BoE 0 X O
Ve LR AL S AR E (11R)
X = —225527.334
Y = -10448.162
300m
g
_Q"‘Eﬁa



TE BBV ALK
#ER . 1/ 10,000

LSTEF2 5

wm o8B o i B
T8 S BN SR 1 4
OB o X
Y e FEAEAE (115R)
X = —223558.4088
Y = -10281.4419

150rm

-
//”_\/



TE B EFEAR T RS
MR . 1/ 8,000
ORI E
BB o i &
TRED . HR T 5
BB o0 KO
WA s A EEEAE (115R)

X = -217611.827
Y = -13560.986

ra
o
S
3

252° 02" 400m
(300m)

2

Z ERET



EEREESTHARKX
#ER . 1/ 10,000
LETEFEAS
wm B o A E
T3 S AR L HRHT Hi 5
BB o0 X B
Y35 B A EEAEAE (113%)

X = —-215818.7271
Y = ~14687.0535

200m

(W05p)
08 Z¥2

SES

ZEnEr JE=Ti)



E B IREMESRTIRGX
MR 1/10,000
RESITEF15
B B 0 L B
CHERD/\ERT R A Hh
B o5 0 X
a9 e A EEARAE (1135)

X = -213530.7681
Y = ~15717.9884

150m

{wsie)
.08 OFe

wiops

B

G

\iE



TEERRIERTTRG X
N
RS ER 2%
% 0 fr &
YRS\ ERTRRAT HI G

woE o KO

T A R EEREAE (L15R)
X = -208649.3129
Y = -19932.9937

150m

Bl

1/ 10,000




EEIRIEMERTFRS

#ER . 1/ 10,000

& §1m

RSTEH L=

WO o i B
PSR ERE T2 72 BT Aol X Hh 4

o o X

A AR (L15R)
X = -201406.163
Y = -29559.522

.
S
S
3

245° 37" 990m
(300m)

AR



E B R EMERTRGX
EIAN
RSTEH2 5
W B 0 L &
I BRI T2 0T R K Hit e
BB o K &
s e B E (115R)

X = ~197786.977
Y = -32140.161

300.265m

{wooa)

WT9EvER LESLS 6T

P>
BT

1/ 10,000



EEREERTHASX
fMER 1/ 10,000
ST ESLE
BB 0 B
DR 7222 BT AL L X HE 5
BB 0 R O
S e R AEAE (1158

X = -181578.3543
Y = —-36808.6106

300m

I00EY
Jt 608

ps

REEN



TE B ER TR

#BR . 1/10,000

ST EH2E

wE o L &
PORERE T2 BT i L X Ha s

OB o X

Vam R SEEARE (115R)
X = -181011.305
Y = -36203.993

300m

(008)
88 008

O}w“

EEiEd



TE B RSErE S AN
#ER . 1/10,000

ST ESR LS

B 0 L &
SGERRE 7o 7 BT WA X 5
BB 0 K O
TG A R BEAEAE (115R)

X = -173630.1739
Y = —33130.8282

300m

68 .82

{wi0186)




TE B IR EFER T ARG
EIAN
WS EE2E
B OB o0 L &
DGR 772 BT HEA X 5
BB o0 K
I BE AR REAE (115R)

X = -171276.1879
Y = —32972.4848

300m

(W0t8)

B 20E

AR C

b\/uovm
Q

=F%

1/ 10,000



E B RIERTRG X
fMER 1/ 10,000

WS ER 35

OB 0 L E
PR 770 BT HEAR X H 4

OB o K
a5 B JEAEAE (11R)

X = -169222.5302
Y = —32980.6176

300m

(WQES)
.92 652

\/\/o
' 15T



BRI TR |
MR 1/ 10,000

¥ B O L &
SRR PR BT BN X Hh 52
BB 0o R O
TG R RUEAEAE (113%)

X = -167800.6284
Y = -33036.7531

300m

s

268° 46"
(550rm)

e

Og

ik



EEREERTTREXN
AN
ST EHESF
B % O AL &
PR BR 77 BT SR X M A
B oo KO
WA REARE (115R)

X = —163968.4327
Y = -33180.7127

3C0m

660m
{450m)

274° 07°

. £7.8

1/ 10,000



